

You have Downloaded, yet Another Great Resource to assist you with your Studies ©

Thank You for Supporting SA Exam Papers

Your Leading Past Year Exam Paper Resource Portal

Visit us @ www.saexampapers.co.za





NATIONAL SENIOR CERTIFICATE

GRADE 12

MARKING GUIDELINES



No.	SOLUTION	MARK	MARK
		JUSTIFICATION	
1.1.1	(x-2)(5+x)=0	A ✓ x = 2	
	x = 2 or x = -5	$A \checkmark x = -5$	(2)
1.1.2			
	$x = \frac{-(-2) \pm \sqrt{(-2)^2 4(3)(-6)}}{2(3)}$	A ✓ substitution	
	$x = \frac{1 \pm \sqrt{19}}{3}$	CA ✓ simplification	
	X =	CA ✓ x = -1,12	
	x = -1,12 or x = 1,79	CA ✓ x = 1,79	(4)
1.1.3	$2\sqrt{x+6}+2=x$		
	$2\sqrt{x+6} = x-2$	A ✓ isolating the surd	
	$4(x+6)=(x-2)^2$		
	$4x + 24 = x^2 - 4x + 4$	$CA \checkmark 4x + 24 = x^2 - 4x + 4$	
	$x^2 - 8x - 20 = 0$	CA ✓ x = 10	
	(x-10)(x+2)=0	CA ✓ x ≠ -2	(4)
	$x = 10 \text{ or } x \neq -2$		
1.1.4	$x^2 + 2x - 15 < 0$	A ✓ standard form	
	(x-3)(x+5)<0		
	x = 3 or x = -5	CA ✓ critical values	
	-5 < x < 3	CA CA ✓✓ answer	(4)
1.1.5	$2^{x+2} - 3.2^{x-1} = 80$	A ✓ factorization	
	$2^{x}(2^{2}-3.2^{-1})=80$	CA ✓ simplifying bracket	
	$2^{x}\left(\frac{5}{2}\right) = 80$		
	$2^{x} = 32$	$A \checkmark 2^{x} = 32$	
	$2^{x} = 2^{5}$	CA ✓ Exponential form	
	x = 5	CA ✓ answer	(5)
			(0)



			ľ
1.2	$3^{x+y} = 27(1)$		
	$x^2 + y^2 = 17(2)$		
	$3^{x+y}=3^3$	$A \checkmark 3^{x+y} = 3^3$	
	x + y = 3	$CA \checkmark x + y = 3$	
	$y = 3 - x \dots (3)$		
	sub.(3)into (2)		
	$x^2 + (3-x)^2 = 17$	CA ✓ substitution	
	$2x^2 - 6x - 8 = 0$	CA V Substitution	
	$x^2 - 3x - 4 = 0$		
	(x-4)(x+1)=0	CA ✓ standard form	
	x = 4 or x = -1	CA ✓ x values	
	y = -1 or $y = 4$	CA ✓ y values	(0)
			(6)
1.3	$2.5^{n} - 5^{n+1} + 5^{n+2} = 2.5^{n} - 5^{n}.5^{1} + 5^{n}.5^{2}$	A ✓ exp. law	
	$=5^{n}(2-5+25)$	And the second second	
	$=5^{\circ}(22)$	CA ✓ common factor	
	$=2\left\lceil 5^{n}\left(11\right) \right\rceil$	CA ✓ answer/explanation	
	E 2		
	OR Any integer multiplied by an even number will be even.		(2)
	20030 04000 65 030001		(3)
1.4	$\frac{3^{y+1}}{32} = \sqrt{96^x}$		
		$A \checkmark \frac{3^{y+1}}{2^5} = (96)^{\frac{x}{2}}$	
	$\frac{3^{y+1}}{2^5} = (96)^{\frac{x}{2}}$	$A \checkmark \frac{3^{y+1}}{2^5} = (96)^{\frac{x}{2}}$ $A \checkmark 3^{y+1}.2^{-5} = 2^{\frac{5x}{2}}.3^{\frac{x}{2}}$	
	$3^{y+1}.2^{-5} = 2^{\frac{5x}{2}}.3^{\frac{x}{2}}$	$A \checkmark 3^{y+1}.2^{-5} = 2^{\frac{5x}{2}}.3^{\frac{x}{2}}$	
	0.000		
	$-5 = \frac{5x}{2}$		
	$\therefore X = -2$	04 (0	
	PONDS 00000 10004	CA ✓ x = -2	
	$y+1=\frac{x}{2}$		
	$y+1=\frac{-2}{2}$		
		CA ✓ y = -2	(4)
	∴ y = -2		(-9
	¥		
	NAMA .		

SA EXAM PAPERS

OR	OR	
$\frac{3^{y+1}}{32} = \sqrt{96^x}$		
$\left(\frac{3^{y+1}}{2^5}\right)^2 = \left(\sqrt{96^x}\right)^2$	$A \checkmark \left(\frac{3^{y+1}}{2^5}\right)^2 = \left(\sqrt{96^x}\right)^2$	
$\frac{3^{2y+2}}{2^{10}} = 2^{5x}.3^{x}$ $3^{2y+2}.2^{-10} = 2^{5x}.3^{x}$	$A \checkmark 3^{2y+2}.2^{-10} = 2^{5x}.3^{x}$	(4)
-10 = 5x ∴ x = -2	CA ✓ x = -2	
$2y+2=-2$ $\therefore y=-2$	CA ✓ y = -2	
		[32]

2.1.1	$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	A√-48 A√-35	
	-2 -2 The next TWO terms: -48; -35		(2)
2.1.2	$3a+b=21 \qquad a+b+c=-120$ $2a=-2 \qquad 3(-1)+b=21 \qquad (-1)+(24)+c=-120$ $b=24 \qquad c=-143$ $T_n=-2n+24n+143$	$A\checkmark 2^{nd}$ diff = -2 $CA\checkmark a = -1$ $CA\checkmark b = 24$ $CA\checkmark c = -143$	(4)
2.1.3	T'(n) = $-2n + 24 = 0$ n = 12 $T_n = -(12)^2 + 24(12) - 143$ $T_n = 1$ A maximum of 1	A✓method A✓n=12 CA✓maximum 1 CA✓-1	(4)
	Add -1 to T _n OR	A√method A√n=12	

$n = \frac{-(24)}{2(-1)} = 12$ $T = \frac{(12)^2}{2(-1)} = 12$	CA✓ maximum 1	
$T_n = -(12)^2 + 24(12) - 143$ $T_n = 1$	CA✓-1	(4)
A maximum of 1		
Add -1 to T_n		
OR	A√method	
$T_n = -n^2 + 23n - 143 + k$	$CA \checkmark \Delta = 4k + 4$ $CA \checkmark \Delta = 0$	7.0
$\Delta = (24)^2 - 4(-1)(k - 143)$	CA ✓ -1	(4)
=4k+4		
but $\Delta = 0$, $4k + 4 = 0$		
k = -1		
		[10]

3.1.1	9+14+19++124	A√substitution into the	
	$T_n = (9) + (n-1)(5)$	correct formula	
	$T_n = 5n + 4$	$A \checkmark T_n = 5n + 4$	(2)
3.1.2	$T_n = 5n + 4 = 124$	CA✓=124	
	5n = 120		
	n = 24	CA ✓ n = 24	
	$\sum_{n=0}^{24} (5n+4)$		
	$\sum_{n=1}^{\infty} (3n+4)$	CA√answer	(3)
3.2	$S_n = a + a + d + a + 2d + \dots + a + (n-2)d + a + (n-1)d$	A√equa(itò)n 1	
	$S_n = a + (n-1)d + a + (n-2)d + \dots + a + 2d + a + d$	+ a(2) A requation 2	
	(1) + (2)		
	$2S_n = 2a + (n-1)d + 2a + (n-1)d + \dots + 2a + (n-1)$	A√adding d	
	$2S_n = n[2a + (n-1)d]$	3000000000	
	$S_n = \frac{n}{2} [2a + (n-1)d]$	$A \checkmark {2S_n \atop = n[2a + (n-1)d]}$	(4)



			[9]
	FION 4		
4.1.1	5; 10; 20; $T_{n} = ar^{n-1}$ $T_{n} = (5)(2)^{n-1}$	A√answer	(1)
4.1.2	$S_{n} = \frac{a(r^{n} - 1)}{r - 1}$ $S_{18} = \frac{5[(2)^{18} - 1]}{2 - 1}$	A√substitution into the correct formula	
	S ₁₈ = 1 310 715	A√answer	(2)
4.2	$r = \frac{(2x+4)(2x-4)}{2x-4}$ $r = 2x+4$	$A \checkmark r = 2x + 4$	
	converge: $-1 < r < 1$ -1 < 2x + 4 < 1 -5 < 2x < -3	$A \checkmark -1 < r < 1$ A \substitution	
	$-\frac{5}{2} < x < -\frac{3}{2}$	A√answer	(4)
4.3	$ \frac{S_{\infty}}{S_{2}} = \frac{\frac{2}{1 - \frac{1}{\sqrt{2}}}}{2\left(1 - \left(\frac{1}{\sqrt{2}}\right)^{2}\right)} - \frac{1}{1 - \frac{1}{\sqrt{2}}} $	A✓S _∞ A✓S ₂	
	$=\frac{1}{1-\frac{1}{2}}$ $=2$	A√answer	(3) [10]



5.1	x+1=-x-7	\checkmark x+1=-x-7	
	2x = -8	Α	
	X = -4	\checkmark $X = -4$	
	∴ y = -3	$\checkmark x = -4$ A $\checkmark \therefore y = -3$	
	$x = -4$ $\therefore y = -3$ $\therefore f(x) = \frac{-2}{x+4} - 3$	A	
	∴ $p = 4$ and $q = -3$		(3)
5.2	$f(x) = \frac{-2}{x+4} - 3$	✓ y=0	
	$0 = \frac{-2}{x+4} - 3$	Α	
	2007-400 III	. 14	
	-2-3(x+4) = 0 $-3x-14 = 0$	$\checkmark X = -\frac{14}{3}$	
		CA	St. 160
	$\therefore x = -\frac{14}{3}$		(2)
5.3	-4,67) x=-4 0 y=-3	 ✓ Horizontal asymptote A ✓ Vertical asymptote A ✓ Y-intercept CA ✓ Shape A 	(4)
	-3,5		



5.4	$h(x) = \frac{-2}{(x+5+4)} - 3$	$\checkmark h(x) = \frac{-2}{(x+5+4)}$	-3
	$h(x) = \frac{-2}{(x+9)} - 3$ x = -9	A ✓ x=-9 CA	(2)
5.5	$-\frac{14}{3} < x < -4$	✓ Correct inequality	
		✓ Critical values CA	(2)
			[13]

6.1	(0;3)	✓ (0;3) (1)
6.2	$x = -\frac{b}{2a}$ $x = -\frac{(-2)}{2(-1)}$ $x = -1$ $y = -(-1)^{2} - 2(-1) + 3$ $y = 4$	
6.3	B(1;0) by symmetry A(-3;0)	A (-3;0) (1) A (1)



	\$ 12	Č.		
6.4	$m = \frac{4-0}{-1+3}$	1	m = 2	
	-1+3 = 2		CA	
	y-0=2(x+3)		subs of A $\left(-3;0\right)$ C $\left(-1;4\right)$	or
	y = 2x + 6	_	C(-1; 4)	
	E(0;6)		Α	
	C(-1; 4)	· ·	y = 2x + 6 CA	
	$CE = \sqrt{(0+1)^2 + (6-4)^2}$		E(0; 6)	
	$=\sqrt{5}$ units		CA	
		✓	Substitution into	
			distance formula CA	723
		✓	Answer	(6)
	25 45 5 6. 11 6. 12		CA	
6.5	$f'(x) = -2x - 2$ but $m_{tan} = 2$	_	-2x-2	
	2 = -2x - 2	✓	A = -2x - 2	
	x = -2		Α	
	f(-2) = 3	✓	x = -2	
	y = 2x + k	/	CA y = 3	
	3=2(-2)+k		CA	
	k = 7		Answer	(5)
6.6	$\alpha(y) = 2y + 6$		$CA \\ x = 2y + 6$	1-7
0.0	g(x) = 2x + 6		A = 2y + 0	
	x = 2y + 6 $2y = x - 6$	/	$y = \frac{x}{2} - 3$	
	1551 Nation			
	$y = \frac{x}{2} - 3$		Α	(2)
6.7	$2x+6 \ge \frac{x-6}{2}$	1	$2x+6\geq \frac{x-6}{2}$	127 729
	4			
	$4x+12 \ge x-6$	1	$CA \\ 4x+12 \ge x-6$	
	$x \ge -6$		4X+12 ≥ X = 0 CA	
		✓	$x \ge -6$	(3)
)			CA	
		Į.		[21]



QUESTION 7

				[09]
	21			
	$X \ge \frac{1}{27}$		OA.	(3)
	$x = \frac{1}{27}$ $x \ge \frac{1}{27}$	√	answer CA	
	$x = \frac{1}{x}$		Α	
	$X = 3^{-3}$	✓	A simplification	
7.5	$\log_3 x = -3$	✓	exponential form	
	200Au 9		Α	. ,
7.4	x > 0	✓	Answer	(1)
7.5	$g(x) = -\log_3 x$		A	(+)
7.3	$a(x) = \log x$	✓	Answer	(1)
			Α	(2)
	$y = 3^{x}$	1	A Answer	
7.2	$x = \log_3 y$	✓	Swop x and y	
	(3) ∴a=3		^	_\
	$a = \left(\frac{1}{3}\right)^{-1}$		A (3)	(2)
	3	1	$a = \left(\frac{1}{-}\right)^{-1}$	
	$a^{-1} = \frac{1}{3}$		Α	
	$-1 = \log_a \frac{1}{3}$	✓	$subt\left(\frac{1}{3};-1\right)$ A $a = \left(\frac{1}{3}\right)^{-1}$	
7.1	1		(1 .)	

8.1	$f(x+h) = 3(x+h)^2 - 2$	A ✓ f (x+h)
	$= 3(x^{2} + 2xh + h^{2}) - 2$ $= 3x^{2} + 6xh + 3h^{2} - 2$	CA√substitution in the correct formula
		$CA \checkmark \frac{6xh + 3h^2}{h}$
		$CA \checkmark \frac{h(6x+3h)}{h}$
		CA√6x



	7270 11 21 1940 11	T -	T .
	$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$		(5)
	$= \lim_{h \to 0} \frac{3x^2 + 6xh + 3h^2 - 2 - (3x^2 - 2)}{h}$		
	$= \lim_{h \to 0} \frac{6xh + 3h^2}{h}$		
	$=\lim_{h\to 0} \frac{h(6x+3h)}{h}$		
	$= \lim_{h \to 0} 6x + 3h$		
	= 6x		
8.2.1	$\frac{dy}{dx} = 18x^2 - 10x + 13$	A√18x² A√−10x	
		A√13	(3)
8.2.2	$D_x \left[8x^2 + 2x^{-3} \right]$	A√2x ⁻³	
	$=16x-6x^{-4}$	CA ✓ -6x ⁻⁴	
	=10X-0X	A√16x	(3)
8.2.3	$m = 6x^2 - 4x + 4$	$A\checkmark m = 6x^2 - 4x + 4$	
	when $x = 2$		
	$m = 6(2)^2 - 4(2) + 4$	A./ f(2) 15	
	= 20	A ✓ f (2) = 15	
		CA / 15 20/2) . a	
	f (2) = 15	$CA \checkmark 15 = 20(2) + c$	
	y = mx + c		
	15 = 20(2) + c	$CA \checkmark y = 20x - 25$	
	c = -25		
	∴ $y = 20x - 25$		(4)
			(4)
			[15]



9.1.1	$2x^{3}-5x^{2}-4x+3=0$ $(x-3)(x+1)(2x-1)=0$ $x=3 \text{ or } x=\frac{1}{2} \text{ or } x=-1$	A√factors A√equating to 0 CA√ x values	
	$(3;0), \left(\frac{1}{2};0\right)$ and $(-1;0)$	CA✓coordinates	(4)
9.1.2	(0;3)	A√(0;3)	(1)
9.1.3	$f'(x) = 6x^{2} - 10x - 4$ $f'(x) = 0$ $6x^{2} - 10x - 4 = 0$ $(x - 2)(3x + 1) = 0$ $x = 2 \text{ or } x = -\frac{1}{3}$ $f(2) = -9$ $f\left(-\frac{1}{3}\right) = \frac{100}{27}$	A \checkmark f'(x) = 6x ² -10x - 4 CA \checkmark factors and equation to 0 CA \checkmark x values CA \checkmark y values	
	\therefore TP are (2;-9) and $\left(-\frac{1}{3};\frac{100}{27}\right)$		(4)
9.1.4	10 fy 52 2 4 -510	A√shape CA√intercepts CA√turning points	(3)
9.2.1	concave up	$A \checkmark f''(x) > 0$ $CA \checkmark 12x - 10 > 0$	

	f''(x) > 0 12x-10>0 $x > \frac{5}{6}$	$CA\checkmark x > \frac{5}{6}$	(3)
9.2.2	$x < -\frac{1}{3} \text{ or } x > 2$	$CACA\checkmark\checkmark x < -\frac{1}{3}$	
		CA ✓ x > 2	(3)

QUESTION 10

10.1	h(x) = a(x-1)(x-3)(x-5)	$A \checkmark a(x-1)(x-3)(x-5)$	
	a = 1		
	$h(x) = (x-1)(x^2-8x+15)$	$A \checkmark x^3 - 9x^2 + 23x - 15$	
	$= x^3 - 8x^2 + 15x - x^2 + 8x - 15$	CA ✓ b = 9	
	$= x^3 - 9x^2 + 23x - 15$	CA ✓ c = 23	
		CA✓ d =15	/F)
	b=9 c=23 d=15		(5)
	D=9 C=23 U=15		
10.2	1≤ x ≤ 3 or x ≥ 5	CACA✓✓1≤x≤3	(3)
		CA√x≥5	
			[8]

11.1	$V = \pi r^2 h$	$A\checkmark 225 = \pi r^2 h$	
	$225 = \pi r^2 h$ $h = \frac{225}{\pi r^2}$	$A \checkmark h = \frac{225}{\pi r^2}$	(2)
11.2	$SA = 2\pi r^2 + 2\pi rh$ $= 2\pi r^2 + 2\pi r \left(\frac{225}{\pi r^2}\right)$	$A \checkmark SA = 2\pi r^2 + 2\pi rh$ $A \checkmark 2\pi r^2 + 2\pi r \left(\frac{225}{\pi r^2}\right)$	
	$=2\pi r^2 + \frac{450}{r}$	$\left(\pi r^{2}\right)$	(2)



11.3	$SA = 2\pi r^{2} + 450r^{-1}$ $SA'(x) = 4\pi r - \frac{450}{r^{2}} = 0$ $4\pi r = \frac{450}{r^{2}}$	$A \checkmark SA'(x) = 4\pi r - \frac{450}{r^2}$ $A \checkmark equating to 0$	
	$r^3 = \frac{450}{4\pi}$	A✓ r = 3,30	
	$r = \sqrt[3]{\frac{450}{4\pi}}$ $r = 3,30$		(3)
			[7]

